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Question 1:
The state insurance commissioner believes that the mean automobile insurance claim filed in her state exceeds $1,700.  To test this claim, the agency has selected a random sample of 20 claims and found a sample mean equal to $1,733 and a sample standard deviation equal to $400. They plan to conduct the test using a 0.05 significance level. Based on the sample data, what should the state insurance commissioner conclude? Be sure to show the decision rule clearly.

H0:    			 vs 		H1: 

1. test statistics:






2. decision rule






3. decision:








4. conclusion









Question 2:

1. In testing the difference between two population means, for which the population variances are unknown and assumed to be equal, two independent samples are drawn from the populations.  Which of the following tests is appropriate?
a. z-test
b. F-test
c. Matched pairs t-test
d. Equal-variances t-test

2. When the necessary conditions are met, a two-tail test is being conducted to test the difference between two population proportions.  If the value of the test statistic z is 1.86, then the p-value is:
a. 0.4686
b. 0.0628
c. 0.0314
d. 0.0942
	
3. A random sample of 20 observations taken from a normally distributed population revealed a sample mean of 65 and a sample variance of 16. The lower limit of a 90% confidence interval for the population mean would equal:
a. 66.546
b. 63.812
c. 66.188
d. 63.454
	
4. 
In testing the null hypothesis H0: π1 - π1 =0, if  is true, the test could lead to:
a. a Type II error
b. a Type I error
c. either a Type I or a Type II error
d. none of the above

5. A sample of size 200 from population 1 has 50 successes.  A sample of size 200 from population 2 has 40 successes.  The value of the test statistic for testing the null hypothesis that the proportion of successes in population 1 exceeds the proportion of successes in population 2 by 0.025 is:
a. 1.96
b. 1.25
c. 1.20
d. 0.5998

6. Based on sample data, the 95% confidence interval limits for the population mean are 	LCL = 124.6		 UCL = 148.2.
If the 5% level of significance were used in testing the hypotheses
H0: µ=140  vs    H1: µ≠140 ,
the null hypothesis:
a. would be rejected
b. would have to be revised
c. [bookmark: _GoBack]would not be rejected
d. None of the above
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